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Read the following passage carefully, and then in your ANWER BOOKLET
answer all the questions that follow. Your answers should be based on
the text. ] ]
LMl e Jupanill £j> JS Jeawl aiowl gogg b:lill agbbd aij=i pi: ab> Mo
A. The Minoan Civilisation agiuoll 6,LaoxlI
The Minoan civilisation ruled the Mediterranean island of Crete for 1,500 years, until it
was destroyed in 1450 BCE. The Minoans built the first paved roads in Europe and
introduced running water. They had a powerful navy, which might have been why they
were such a strong civilisation for so long.

Question Number One:
1. How long have the Minoan civilisation last? Saygiandl &,la=l wwols oS
2. The Minoan civilisation was the first in Europe. Write down two of its influences on
modern Europe.
85020l Lgjol (sde o) (il ST Lgygl (08 oVl cilS dugisonll &,Laxl
3. According to the text, why was the Minoan civilisation strong and dominant for so
long time?
Sl (o alugb 8 58] 8 daiiuog @gd ginall Lozl cslS I5le) (padl (59 3)8 Lowu>
4. What does the underlined word “They” refer to? Sl aixs Sl ol s92 13 e
5. What does the underlined word “paved” mean?
¢"paved 10" aolS (suso bo
lodSUl dliwl plage OV sow,aodl GLSIl &ulps 09 8359>90)l lalsl aas a_old ab>\o
Lpio (55U 8,500l (59

: 5-1aliwW au>sgeidl SLYI

1. For 1,500 years.

2. a. first paved roads b. running water

3. Because they had a powerful navy.

4. The Minoans

5. a path, etc., covered with a hard level surface such as blocks of stone or
concrete

For many years, people have been trying to find out why this developing civilisation
might have disappeared. Even after Crete was hit by a large earthquake around 1,700
BCE, the Minoans rebuilt their cities. So what caused their civilisation to end? Many
experts say that the end of the Minoan civilisation might have been caused by the
eruption of a volcano on the nearby island of Santorini, almost 3,500 years ago.
However, at Knossos in Crete, scientists have been examining deposits of ash, marine
species, cattle bones and seashells in the soil. How could these deposits have got
there? The only answer is that they must have been deposited in Crete by a tsunami.

Question Number Two:
6. What two possible reasons are there that caused the end and disappearance of the
Minoan civilisation?
Cayginnll &) lax]l cleisly aulp Laow Ol UMosi=odl Ulowudl Lo Lo
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7. What evidence is there in the text tells us that Crete was destroyed by a tsunami?
Cswobigui aawlgs Wyod wuyyS 855> Ol Uy il padl (59 859>l VI Lo
8. What does the underlined word “they” refer to? ¢ aoall 392 3o (sde
9. What does the underlined word “deposits” mean?
¢"deposits wwlg," x> iz sl andSJl (suso bo
10. What does the underlined word “tsunami” mean?
¢"tsunami  wbguuws" s iz il aolSdl sueo o

:10-6 alicw W au>d90udl LU VI
6. a. the eruption of a volcano on the nearby island of Santorini
b. a tsunami
7. At Knossos in Crete, scientists have been examining deposits of ash, marine
species, cattle bones and seashells in the soil.
8. deposits
9. a layer of a mineral, metal or anything else that gradually develops in a
particular place due to natural processes or disasters
10. a huge wave that flows over the land and destroys things

Experts have now pieced together a possible explanation of what might have happened.
They believe that several tsunamis might have hit the northern and eastern shores of
the island, every thirty minutes due to the eruption of the volcano on Santorini.

It must have been a terrifying experience for the Minoans living there!

Question Number Three:
11. According to experts what caused tsunamis that hit island of Crete?
S 805> up0 Sl (soligonsid] o Sl Lo slpuzdl S| o>
12. Why is the disappearance of the Minoan civilisation a mystery?
152 Ugginoll &,la> slais! s 15l
13. What does the underlined word “eruption” mean?
¢"eruption ul)g5" s> lpixi sl aodSJl suso o

14. What does the underlined word “terrifying” mean?
¢"terrifying waxxo/ e, 0" b Lz |l aodSJl (suso bo

:14-11 alivwlW a>dg90il WLI>YI
11. the eruption of the volcano on Santorini.
12. Its disappearance is a mystery because they were a very strong civilisation for
a long time, even rebuilding their cities after an earthquake.
s ppide by loslel ppsl (sumg caligh 8,58) la> @gd 8 la> wolS sV ;o) ga laglais

JI5J; e999
13. the explosion that happens when a volcano sends smoke, fire and rock into the
sky

14. extremely frightening
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B. WHO WERE THE NABATEANS? SbliVI p.a )
In Petra, Jordan, there lie the remains of a majestic city carved out of the desert rock.
This city was the main area inhabited by the Nabateans, who migrated gradually from
Arabia during the 6™ century BCE. Originally, they were a nomadic people who chose
to settle in various places, such as southern Jordan, the Nagab Desert and northern
Arabia.
Question Number One:
1. What makes Petra so special ancient city? Sla> éju00 &0 sl Joxy Sl sosaidl bo
2. Where did the Nabateans come from? bVl els ol o
3. Where did the nomadic Nabateans settle? Write down three places. )
L8 g el Ol 3 S| U, gadl bVl saiwl ol
4. What does the underlined word “they” refer to? ¢ youall 392 3o (sle
5. What does the underlined word "migrated” mean?
"migrated lg,>" by lpixi sl aodSJl (suso bo

:5-1 aliowlW au>dg0il OLL>YI
1. It is carved out of the desert rock.
2. They migrated gradually from Arabia during the 6th century BCE.
3. a. southern Jordan, b. the Nagab Desert c. and northern Arabia.
4. the Nabateans
6. went or moved to another place or country

There is little known about the lifestyle of the Nabateans, except that they were
important traders in the ancient world. They might have traded goods such as spices,
gold and animals with civilisations such as China, India and Rome because of their
convenient position at a commercial crossroads in the world.

Many Roman writers wrote about what the Nabatean culture must have been like, but
no one knows for sure. However, they agree that the language of the Nabateans could
have been a mixture of Arabic and Aramaic.

These Roman writers also say that the Nabateans were ruled by a royal family, and
that, unlike many cultures in the ancient world, the Nabatean society might not have
used any slaves.

Question Number Two:
1. Why were the Nabateans important traders in the ancient world?
S puaill plledl (88 Cpuopo s LoVl OlS 13l
2. Write down two items that the Nabeateans possibly traded with other ancient
Civilisations. ) )
.S,3 V| doyasll wlhlazdl go Ly lgylzs bloVl Ol Joixoll (o caiais S|
. What language was used by the Nabateans? bVl Llosiw! sl a2l Lo
4. According to the Roman writers in what way the Nabateans’ culture was different
from any other ancient culture?
€S,51 dound 8 la> Sl e wlizs audaud] 8,lazdl olS wuS Guuilo JI GLSIl ST, s
. What does the underlined word “they” refer to? ¢ youall 392 3o (sle
. What does the underlined word “traded” mean?
"traded lg,>U" by lpix sl aodSJl suso bo

w
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7. Because of their convenient position at a commercial crossroads in the world.
8. a) spices b) gold
9. A mixture of Arabic and Aramaic.
10. It was different because they probably didn't have slaves.

S o oS o) Y Loy, dalize wolS
11. Roman writers
12. bought and sold goods and services, etc.

In addition to that, the Nabateans must have been expert engineers because they
managed to build complicated water conservation systems in the desert terrain. Despite
archaeologists’ best efforts, there is a limit to what can tell us about these fascinating
people who lived in Jordan such a long time ago.

Although it is still difficult to know much, they can’t have been illiterate because there
are some inscriptions that remain. However, sadly for us, most of the things the
Nabateans made and owned have been too easily destroyed by time or lost in the
desert.

Question Number Three:
13. How do we know that the Nabateans must have been expert engineers?
Sel s uowipo 168 apil 0 V bVl ol B, s
14. What evidence is there to tell us that the Nabateans could read and write?
SauliSUlg del,all lgeUniwl blsVl Ol Uz sl 39>g0dl S5Vl s o
15. Why aren’t there many remains left of the Nabateans’ civilisation?
Sl & ,laxl) adl Ul o Sl a>gs V I5ked
16. What does the underlined word “they” refer to? ¢ aoall 392 13 sde

:16-13 aliww W au>dg0udl WLI>YI
13. Because they managed to build complicated water conservation systems in the
desert terrain.
14. because there are some inscriptions that remain.
15. Because most of the things the Nabateans made and owned have been too easily
destroyed by time or lost in the desert.
16. the Nabateans

Question Number Two:

A. Complete the following sentences with the suitable words derived fro mthe
words in brackets and write the answer s down in your ANSWER BOOKLET.

(6 points) w99V w aodsl puxall Bl VU AWl Jodl Jos|
1. The small city was destroyed because of the-------------- of a nearby volcano (erupt)
2. Jordan doesn’t have many-------------- persons. (illiteracy)

3. Because of the difficult economic situation, many people want to------------ to another
country. (emigration)

4. Experts have found some--------------- s on the wall of the old castle. (inscribe)

5. Itis not public; itisa .....cccceevveernnen. TV station. (commerce)
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1. eruption: el a2y ool géy VI byiu a/an/the aey ooVl gésg . pwl/Ul)e5
2. illiterate:(persons olwl) powl Ju8 avall gaig .asn [aliSllg 3<l,8)l B2 V -Cswl
3. emigrate: to o= J=oll géy9 . J=8/,>1p
4. inscriptions: many/much/few/some : Jio wlodS a2 puwVl &é49 . oowl /ugss
5. commercial: (TV station awgs;eli ddaxo) powVl 8 avall gajg .40/ S, =5

B. Choose the suitable word from those given in the box to complete each of
the following sentences and write it down in your ANSWER BOOKLET.
o liodl E)all 9 aJll lls)l go

| deposits, paved, piece, harvest, inhabitants |
1. The first---------------- of the city arrived in the 17" century.
2. They live in a remote village where there are no-------------- roads or running water.
3. People in the past used to------------ their crops using their bare hands.
4. The detective tried to ---------- together the events leading up to the crime.

:B o) ax>Seouidl ULV

1. inhabitants: ulsow
2. paved: (B)b) du=o
3. harvest: EW-C (harvest crops Jiolxoll 1ax,)
4. piece: Qo (piece together La=dl lpas) go gox)

C. Study the following sentence and answer the question below. Write the
answer down in your ANSWER BOOKLET. ] )
WJaw V9 Jlgudl e vl pi adUll alo=dl 1,91

1. It has been raining heavily for a week. They have warned of a possible earthquake.
Replace the underlined natural disasters word with the correct one.

Ao QolSs by lpixi sl ausadall O)lgSl @oldS Joasowl
2. Many people abandoned their houses after the eruption of a tornado.
Replace the underlined natural disasters word with the correct one.

Ao QolSs by lpixi sl ausadall O)lgSl @oldS Joasowl
3. Aflood is a huge wave in the ocean that causes terrible damage to the land.
Replace the underlined natural disasters word with the correct one.

Ao QolSs by lpixi sl ausadall O)lgSUl @oldS Joasowl
4. The earth shook violently. It was a very strong tsunami.
Replace the underlined natural disasters word with the correct one.

Ao QolSs by lpixi sl ausadall &)lgSl @oldS Joasowl
5. The volcano is a powerful, destructive windstorm.

Replace the underlined natural disasters word with the correct one.
Ao AolSs by Lpixi sl awsudall &)lgSUl aolS Jawiwl
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1. flood: Ulawd 2. volcano: uls 3. tsunami: o lguuwill
4. earthquake: Jl3J;, 5. tornado : ,Lac)l

Question Number Three
A. Complete the following sentences using the past form of the modal verbs in
brackets.
L0 B (80 g sall AEN JladD azmlall dapa Jlerialy 4000 Jaad) LS|
1. I didn’t find my pen. I............... (might leave) it at home.
2. The man was unconscious. He.......... (must be) without food or water for days.
3. Ahmad------------- (can't be) the thieve. He wasn't in town when robbery took place.
4. The lights were out and their car wasn't there. They.............. (must go) out.
5. Amal didn't come to school yesterday. She............ (could be) ill.

‘A Jlgd au>g0idl GLYI

. might have left: Sy (sl Lo,
. must have been: oS @l , V
. can't have been: .uJ <l LV
. must have gone: ¢85 pgpil 1, V
. could have been: «sS il Loy, :
198 Ladls adSial JlesVl oo wsuolodl JSow wl oV US|
- Modal + have + V3 (might have left/ must have gone/ can’t have been....)

gD WNE

B. Write sentences which explain the possibilities of the following situations
using the given modal verbs between brackets. )
adsiildl JedVl Josiwls adWl wdlaadl 9 adloix>Vl auogi il Jodl sl
owledVIl G sl
1. My neighbors decided to move. I am almost sure that they have bought a new house.
(must have)
iodpodl 14D J> o9 dacluwol)
1388 (@MS o ASlio Jut ol ASlio plSiol Of auss sl @lolS @ozl Ll Vol 08 .1
1. My neighbors decided to move.- I-am-almost sure-that they have bought a new house.
(must have) )
(must have) LwlgdVl o Sl Jeall go o @osdl (88 =90l Jelall dic o J=dl 1l 5.2
ros oS ozl (89 sg>g0ll Jeal) cJUl wyaill g0 0
-They must have bought a new house.
2. Khaled's tablet is lost. I am almost sure that he hasn't kept it safely. (can't have)
3. I am almost sure that Manal was at the party because I saw her car. (must have)
4. I don't know where Ahmad was yesterday. I am unsure if he went to the library or
not. (might have)
5. I am almost sure that Rami didn't take your mobile because he didn’t come into the
room. (can’t have)
6. The exam was very difficult. I am not sure whether I passed or not. (might not have)
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7. I saw Noor walking fast. Perhaps she was late for the meeting. (could have)

8. My mother’s flowers have died. I am almost sure she forgot to water them.
(must have)
9. The workers left early. I am unsure if they were tired or not. (might have)
10. Hazem looked sad last night. I am almsot sure he didn't get the job. (can't have)
11. I am almost sure that the Nabateans didn't use machines in carving the rock.
(couldn’t have)
12. T am quite unsure if Salem was able to carry the bag or not. (could have)

:B Jlguwd a>d9.041 OULVI

1. My neighbors must have bought a new house. ) o
they JelaJl aie o J=JI Leidug (I am almost sure that «l aSlio Luyas Ul) aSWI é,Le Loi>
must have Leog o .they oo Vi @ udo ol sg8Vls my nighbours sle g2 oSl
ozl LleSlg .bought Jeel) cJUl oy uaidl llosiowlg

2. Khaled can’t have kept his tablet safely. ) o
he JelaJl aice o J=dl Luidug (I am almost sure that «l aStio Ly,ss Ul) oS é,Le Loi>
llosiwlg cant have leog pi .he o Yu a4 Ll Ul dgéiglg Khaled _sJec 92 Sillg
it yuoud)l Jau wlg=dl 3 (tablet) pewVl Lodeiiwly .alo=dl LloSlg Wleft Jeal) Ul oy paill

3. Manal must have been at the party. ] o
Jelall sie o J=l Loaudig (T am almost sure that @l aSbo Ly,ss Ul) asWl 8,Le Loi>
o=l LloSly .been gag was Jeall Ul oy aill Llosiowlg must have Lieog o5 .Manal

4. Ahmad might have gone to the library yesterday. o

oo J=dl Leadug (T am unsure if.... or not Vel ....15] aSlo woud Ul) aSUWI pac 8)Le Lédi>
might have lieog o3 .he o Yoo @ Giuls 0l s¢8Vlg Ahmad (sle 3925 Sillg he Jela)l auc
o=l LloSlg .gone gag went  Jeoll Ul oy pail Llosiowlg

5. Rami can’t have taken your mobile. ] L
Jeledl aie o J=Jl Leadss (T am almost sure that @l asbio Lo,ssi Ul) aSUI 8)le Lois>
o=l LloSly .taken gag take Jeoll cJUJl ol Llosiswlg can’t have liwog oi .Rami

6. I might not have passed the exam.
Lealss (I am not sure whether.... or not Y pl ....15] aSto cowd Ul) astl pac §)Le Loi>
passed Jsoll Ul wyjraill Llosiswlg might not have Leog o5 I Jeladl die o J=
ozl LiloSlg.
7. Noor could have been late for the meeting.
AT g8Vl she Jelall aic oo J=dl Luaby (Perhaps ....lou,) 3SWI pac @olS Loi>
LloSlg.been g¢ag9 was Jseoll cJUl wypaidl Llosiowly could have lwog i .Noor owVU
o=l
8. My mother must have forgotten to water her flowers.
she Jelal aic oo J=Jl Luadg (I am almost sure that asl aStio Lu,ss Ul) astl 6,le Lois
Llos=iwly must have Liwog pi .she oo Vo @ il ol sg8Vlg my mother (sle 392 silg
ozl LlaSlg .forgotten gag forgot Jsall cJll waypail
9. The workers might have been tired.
oo J=Jl Leabss (I am unsure if....or not Y gl...13] lawd 3Stio jue Ul) aStI pac 6,le Lois
lieiog pi .they oo Vau @ audo ol sg8Vlg the workers (sle s92 Sillg they Jelall sic
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.&lazJl LleSlg .been ga9 were Jm.U cJUl ey paill Llosiowlg might have
10. Hazem can’t have got the job. ] o
he Jelall aie o J=dl Luidug (I am almost sure that «l aSbio Ly,ss Ul) oS é,Le Loi>
llosiwlg cant have Leog pi .he o Vo a yids ol S¢dVlg Hazem (sle sg2 Sillg
ozl LleSlg .got gag get  Jeol) cJUII oy il
11. The Nabateans couldn’t have used machines in carving the rock.
Jeladl die o J=dl Leadsg (I am almost sure that @l aSbio Luyas Ul) oSl é)Le Ldi>
.used gag use Jeoll cdUl wayaidl Wlosiwly couldn't have lieog o5 . the Nabateans
ozl LloSly
12. Salem could have been able to carry the bag. o
(I am quite unsure if.... or not Y ol ....13] lowd loi aSlio wwd Ul) aSWI pac 6,le Loi>
Jdeel) Ul @y paill Llosiwly could have Lsog oi .Salem Jelall xie o J=dl Lodidug
o=l LloSlg .been g9 was

Question Number Four

A. EDITING ., >l

Imagine you are an editor in the Jordan Times. You are asked to edit the

following lines that have four mistakes. (one grammar mistake, one

punctuation mistake and two spelling mistakes). Find out these four mistakes

and correct them. Write the correct answer down in your ANSWER BOOKLET.

e Seixi (sally @bl Y JIey Ol clio wlb. 300l Ols,92l 8305> 89 5yx0 _bb Juzi

as,Vl clasVl o). MoVl (o9 UJUa.>9 8,3l GloMe (s Unsg (aclgd aslg Uns (slasl as)
Al 0y (88 axxall LY Sl lpxxog

They might have trade goods such as spices, gold and animals with civilisations such as
China, India and Rome because of their convenient bosition at a commersial crossroads
in the world? Many Roman writers wrote about what the Nabatean culture must have
been like, but no one knows for sure.

tA Jldod >S90l WLV
1. might have traded (cJU w,,.0))
2. position
3. commercial
4. the world. Many (.S @¥,> i 1wy dnin cspiss @ do> Jo «Jlgw a>g V)

B. GUIDED WRITING
Read the information in the box below, and then in your ANSWER BOOKLET,
write two sentences about why we should study ancient civilisations using

the appropriate linking words.

ovas)l whlasdl pe g ol lude Bl e puidos wiSly JawVl (w8 wlogleodl 1,31
Gowlio by, wlolS Josiwls

learn from ancient civilisations’ mistakes.

understand how civilisations rise or fall.

Know about the beliefs and lifestyle of other civilisations.
inspire young generations .
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Studying ancient civilisations has many benefits, for example, we can learn from
ancient civilisations’ mistakes and understand how civilisations rise or fall. In
addition we can know about the beliefs and lifestyle of other civilisations as well as
they can inspire young generations.

B. FREE WRITING
In your ANSWER BOOKLET, write about 80 words in ONE of the
following. .aolS 80 Wy i sucgogoll o A>lg W\ Sl

1. Write an article about the benefits of studying old civilisations giving some
examples of old civilisations you know about.

2. Natural disasters are very dangerous. Write a blog for your school website telling
your schoolmates about some of these disasters and give advice on how they
should behave in one of them.

The End

(a9l i @)l wall o) Alw )l Yw,ss e slac)
s> ol JM>
i3,V Ao/ 4 sl Yl a2l OISl ywgsy9) -
i, V1 asoldl/ (s aib Wl jus) oYl acll pudsi TEFL) Nle ool -
asolx)l/lpillxinly @julwyl alll pudei wllwl 09 juiuu>lo oy QGw -
K- WA

_ v, 9-.'i -;.Si,
ol = 9] asol>r/ @ julxiVl all Clsl ywgsyellss -
«uaodeoll slacy Nl (Ld W poll jlix] -



